Quick Review

A ratio is a comparison of 2 quantities with the same unit.

Here are 3 squares and 5 circles.
OO0000C000
Here are some ways to compare the shapes.

» Part-to-Part Ratios

) . The numbers 3 and 5 are
» squares to circlesis 3to 5 or 3:5.

the terms of the ratio.
« circles to squaresis 5to 3 or 5:3.
» Part-to-Whole Ratios ‘
« squares to shapesis3to8or3:8 ot %. You can write a part-to-whole
« circles to shapesis 5to8 or 5:8 or . fatiojasajfraction:

4

. Try These |

1. Write each ratio in as many ways as you can.

@
®

a) balls to bats
b) bats to balls

¢) balls to all toys

d) bats to all toys
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Practlce

1. Use the numbers in the box to write each ratio.

a) odd numbers to even numbers
25 16 13 38

b) numbers less than 20 to all numbers

17 30 49 3
¢) multiples of 5 to multiples of 7

24 45 7 14

d) prime numbers to composite numbers

2. Write a word that has each ratio of vowels to consonants.

a) 2:5 b) 1:4 c) 4:6

3. What s being compared in each ratio?

a) 1to2
b) 2:6
c) 2:3
d) <

6
3
6

flour oatmeal oatmeal

e)

4. Draw some acorns and some oak leaves. Write as many ratios
as you can for your drawing.

Stretch Your Thmkmg
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Ask 5 people to name the sport they enjoy watching the most.
Write as many ratios as you can to compare the responses.
Tell what each ratio compares.
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4 Quick Review

» The ratio 3 :2 means that for every 3 apples there are 2 pears.

The ratio 6 : 4 means that for every 6 apples there are 4 pears.
3:2and 6:4 are equal. 3:2 and 6 : 4 are equivalent ratios.

» You can use a table and patterns

] ) Apples Pears Ratio
to find equivalent ratios. il

The numbers in the Apples = 2 e
column are multiples of 3. 6 4 6:4
The numbers in the Pears 9 6 9:6
column are multiples of 2. 12 8 12:8
The ratios of apples to pears are: 15 10 15-10
3:2,6:4,9:6,12:8,15:10, ...
\_ J
TrvThe-se"."’I'.II..II....'.....l.............ll..‘.
1. Write 2 equivalent ratios for each ratio.
a) 5:3 b)7:4 c) 3:9
d)4:11 e) 2:6 f) 8:5
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- Practice |

1. Play this game with a partner.

You will need 2 sheets of paper and a clock or watch with Ratios
a second hand.
. . . 3:7 7:4
» Player A chooses a ratio and writes as many equivalent s T 29
ratios as she can, as Player B times 30 s. . i
» Both players check Player A's ratios. D6ET| FLedUL
Player A gets 1 point for each correct ratio. 4:3 1 10:15
» Players switch roles and play again, using a different ratio. | 8:6 | 3:8
» The player with the most points after 5 rounds wins.
2. Write an equivalent ratio with 30 as one of the terms.
a) 15:7 b) 8:5 c) 2:6 d) 3:14
e) 11:5 f) 3:2 g) 4:10 h) 18:15

3. List all the ratios that are equivalent to 4 : 7 and have a first term that is less

than 25. _

4, Jillian is planting 4 roses for every 3 daisies
in her garden.
Complete the table to show how many
daisies Jillian needs for 8, 12,and 16 roses.
Write each ratio.

Roses Daisies Ratio
4 3

. Stretch Your Thinking )
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Mr.Tanaka has 56 students in his choir.The ratio of boys to girls is 3 : 4.
How many boys and how many girls are in Mr.Tanaka’s choir? Explain.
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NAME: DATE:

what s Bigfoot's favorite
C\Q_Rls’rmas sﬂng?

Circle the correct answer in the problems below. Then record the
corresponding letter of the answer you circled in the rectangles at
the bottom to answer the riddle.

DIREGTIDHS Note: The problem numbers match the numbered rectangles.

____-‘__,

Using Diagram 1 for problems 1-5, give the ratic Ina to b form: Diagram 1

@ A'sto ' @ Osto Ass @ s toﬁﬁ«"s @ 7‘—\('5 to Oss @ Orssto Cls

" Q5103 O5t03 @504 @402 O5to4 AAA
= ®3to5 O35 Q4102 @ 2t03 Qato2 |
®3t04 @304 O 2105 Q@205 Q405 00000
A fruit bow! has 1 apple, 3 peaches, 4 plums, 5 apricots, and 6 bananas. For problems 6-11, give the ratio in a:b form:
() Apricots to peaches (@ Apples to bananas Plums to peaches (8) Peaches to apricots
Q61 @16 @34 Qo6
Qs:3 Des: © 45 @s:3
©3:5 14 Qa3 Q@35
Bananas to peaches @) Apples to plums
LR D13
Q64 @14
Oo6:3 9

Mrs. Jensen's class has 25 students. 12 have brown hair, 6 have black hair, 5 have blonde halr, and 2 have red hair.

@ What is the ratio of blondes to redheads? @ What is the ratio of black haired students to the total
number of students?
®s:2 0 ®2to5 6
7 O 25:6 ®6:20 5=
I (9 What is the ratio of blondes, brunettes, and black- (15) What is the ratio of brunettes to blondes and redheads?

l haired students to redheads?
Q21025 ©23:2 ® 23t025

OO0 O T ITLEL

8 0k B | B U S | I | 3 W w 1\W3 98 3 W 98 12 814

0127 612% @7t012

Skill; Determining ratio CLASS

M
CROWN

© Copyright 2013 ClassCrown™ 5 WWW.CLASSCROWN.COM




NAME: 7 nATE . \\a\ _—
What was the gRouth . A
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] Solve the following prob1ems in the sections below. Then record the
i. corresponding letter in the rectangles at the bottom to answer the

riddle.
| DIREWUNS Note: The problem numbers match the numbered rectangles.

| Use a ruler to draw a line from the ratio on the left to its equivalent ratio on the right:
|

(M) 2104 D PRy o 25:15
@53 0 O 34:6
@147 O () (s ) O 64:56
@104 0 o O 3to4
0 0
® 249 o g 3to12
®17:3 0O O 12to8
@41 D (0] LE o 6:12
21:28 O o 1:2
H
(®stw7 D (E J O 8to3
6:4 DO o o2:1 I
(T

@ 5t010 O o O 7to10 I
(@ 42:60 0 O 20:5
® Which ratio is equivalent to 5 bunnies for every 2 carrots? @ Which ratio Is equivalent to 10 kids for every 2 parents?

€ 12 bunnies for every 5 carrots @ 15 kids for every 3 parents

© 25 bunnies for every 10 carrots © 4 kids for every 20 parents

@ 10 carrots for every 4 bunnies @ 14 kids for every 6 parents

FEa— e = e T R ——T
I 1 n 4 8
Skill: Equivalent ratios &Lﬁscs)ﬁ,
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NAME: __ DATE: \;_g o

which bug hae the

'_ | ¢glve the following problems and match your answers to the answers
1 l@ | in the Legend. Then record the corresponding letter of the correct
jal | answer in the rectangles at the bottom to answer the riddle.
DIRECTIONS | Note: The problem numbers match the numbered rectangles.

J
J
J
J

5 _10 @3- o-L-U
6 [] ] 2 8 32
@ 1:9=[ |:45 ® [ J:12=6:36 ® 4] |=6:9
@ 9to[ |=54t024 @® 14t0] |=56t012 @ 5t0o2=] |to6

] 40
® 5 =35

@ 13:14=[_|:70

@[ [t04=77t028

10 _5
@02

‘l‘ID

12:[_|=4:10

@ 26t08=[ |to4

@ 11:17=33:[ |

@ 17t |=34t02

@) 3t |=4t048

skill: Proportions
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